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HiEs=E 1 = ¥-106,600
INEE ¥6,480,000
HRB ¥648,000
&t ¥7,128,000
W&

1/15




No. £ ¥ OE|\E | B & &
1REETE 1.00] =& 370,000
20BATSE 1.00 =K ZAUEL
S| EE-FHKIE 1.00] = ZUEL
41885 R —FTE 1.00f =K 623,800
5 EMETE 1.00] = 1,113,000
6|RETE 1.00 = BifFin A
IRNELE-BETS 1.00[ = 599,800
8|S BT E 1.00[ = ZUEL
IZNIbIE 1.00] =& 450,000

10|ERTE 1.00f =H 675,000
1|BEREIS 1.00f =K 895,000
12|ZFRRIETE 1.00f =H 1,160,000
13|HRE 1.00 =K 700,000

ait 6,586,600
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No. £ b | ¥ OE|\E | B & &

RETE

B4E 1.00] =& 20,000 20,000
EHLE 1.00] =K 35,000 35,000
&4t Bi5 - AR 1.00] = 40,000 40,000
BR/IERRE 1.00 =K 35,000 35,000
REMUDE 200 & 90,000 180,000
5lEELY) ==Y 1.00f =K 60,000 60,000
ait 370,000
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No. 4 o b | ¥ OE|\E | B & 8

fRiETE

KHLGS T ih#A 36.00 m 2,800 100,800
X 3#PBIRY 36.00 m 2,000 72,000
EE LGS TR THAYESD 65.00) 2,800 182,000
EEEPBIEY " 82.00| m 2,000 164,000
I—F—#, \YH 1.00f = 30,000 30,000
EIEHM 1.00f = 25,000 25,000
EWRHRA B 1.00] = 50,000 50,000
=1 623,800
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No. £ R .. ] A ¥ E|E | Bl & B

EEIE

BEAYQARLVG KT 1.00| #FR 25,000 25,000
ho3—1EE ASEEHERIEEELT 1.00] = 520,000 520,000
AEILHR(2E%) 1.00f = 60,000 60,000
HiGHETE 1.00] = 150,000 150,000
BRI A E 100 = 50,000 50,000
BHBE-WCHEKLF 100 = 100,000 100,000
WCAOEE 1.00] ~ff 95,000 95,000
F LiETE 100 = 25,000 25,000
LUE &) 1000 & 88,000 88,000

m

=11 1,113,000
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No. £ ¥ E|E | Bl & B
RATE
T—7I)L 1.00] & IR AR Al &
1R 1.00f B K AR
&t
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No. 4 o b | ¥ OE|\E | B & 8

RELE-BETE

RIZEE EEX 37.00) m 2,800 103,600
HERNEEEE 4200 m 2,800 117,600
EEEmYOREY 63.00| m 1,800 113,400
BE4E BETE 1.00] = 15,000 15,000
FRIEE 21 ILIRY BE 2500 m 5,800 145,000
KERV—HEY BHERN 1200 m 5,600 67,200
PZANILE 100 = 15,000 15,000
BEIEHM 100 = 8,000 8,000
EHRHEA 100 = 15,000 15,000
=1 599,800
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B ofi

B {f

SERTE

XERSEL
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No. £ R .. ] ¥ E|E | Bl & B
O ITE
BEE RS ERE R -IAESD 1.00f = 200,000 200,000
N/ TE M 1.00] = 250,000 250,000
&5t 450,000
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No. £ R ¥ E|E | Bl & B

BRILE

Hra oS54k &R 2000 & B FIEER A
N—ZF51hk BE 700 & B FEEA
IR BARC 4R B O B4+t 1.00f = 200,000 200,000
avt N ERIE MI 1.00] = 200,000 200,000
SEMREEIE MI 1.00f = 50,000 50,000
NERE 1.00] = 85,000 85,000
SWIZE 12.00| [E]E& 5,000 60,000
MM EER 100 = 50,000 50,000
BN E 100 = 30,000 30,000
BX7E /S ER A ARy 4L L& 100 = 35,000 35,000
&t 675,000
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No. & b | ¥ E(E G| B & & ]

WERMWIE

(FHEHS) 100 = BFESEAELT

SRR EEEEIY L 1.00] = 50,000 50,000
HEHBREETIS K -fai% - HEK 1.00] = 120,000 120,000
BEERSRIES- I TEE 100 = 180,000 180,000
HEEIER-RAE 1.00] =t 40,000 40,000

M EER 100 = 15,000 15,000
YRS T B 1.00] = 150,000 150,000

thizee 1.00f = 120,000 120,000
HRAIE 100 = 150,000 150,000 |X4F &
B3 -F RS 100 = 5
ELERERYTITE 100 = 70,000 70,000
INDAS5— [ AT

&t 895,000
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No. & b | A ¥ E(E G| B &

AR IETE

BTIR 2SRRI BHT4ED YAV 1.00] set 550,000 550,000
BREILE MEE-FLUE 1.00] = 120,000 120,000
Wit ITE HEREESD 100 = 80,000 80,000
ERIRAE 1.00] = 30,000 30,000
J—FK VA4 E—ET 1.00f = 280,000 280,000
ELiETE 100 = 100,000 100,000
=&t 1,160,000
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No. 4 Lo ¥ OE|\E | B & 8
R
RIFEEE 1.00] =X 300,000 300,000
RIGEE 1.00] == 200,000 200,000
SHRE 1.00 = 200,000 200,000
ast 700,000
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